3D Board Questions 2017
@ Find the distance between the planes 2x — v + 2z = 5 and ZO\(_]) \N\O\]LK

5% — 2.5y + 5z = 20.

@ The x-coordinate of a point on the line joining the points P(2, 2, 1) and w\"-}) 2 N\U‘M

Q(5, 1, - 2) is 4. Find its z-coordinate.
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L\ Find the coordinates of the point where the line through the points ;20\:-}_ (<> M())\M https://www.youtube.com/watch?
(3, — 4, — 5) and (2, — 3, 1), crosses the plane determined by the points ) v=xCdUAIQUXWO
(1,2,3),(4,2,-3) and (0, 4, 3).
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Find the value of 2, if four points with position vectors 31 +6j + 9k, Q 0\(\) L\ N\
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i+2j+3k, 2i +3j + k and 4i +6j + Ak are coplanar.
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A variable plane which remains at a constant distance 3p from the origin lﬁ)\—\

cuts the coordinate axes at A, B, C. Show that the locus of the centroid of

triangle ABC is i, + i) + i) - i’
X~ Y- e p-

Find the distance between the planes 2x —y + 2z = 5 and ZO\‘_]) \W

5x — 2:5y + 5z = 20.
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@ The x-coordinate of a point on the line joining the points P(2, 2, 1) and 20\ ) Z N\d\M

Q(5,1,-2)1s 4. Find its z-coordinate. _
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https://www.youtube.com/watch?v=xCdUAiQuxW0
https://www.youtube.com/watch?v=xCdUAiQuxW0
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@ Find the coordinates of the point where the line through the points 0420\1]_ b MM
(3, — 4, = 5) and (2, — 3, 1), crosses the plane determined by the points )
Q2908 e pAnsgow
(1,2, 3),(4,2,-3) and (0, 4, 3).
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A variable plane which remains at a constant distance 3p from the origin
@ 207, (MO

cuts the coordinate axes at A, B, C. Show that the locus of the centroid of
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triangle ABC is i) PO
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